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UNIT =1 Chapter-1: Origin of the Solar System (3EI—I—1 : ARRASA & Il )

Select the correct option: - ( 2! f[ddHed &1 FIH BINIY )
1) The Earthis a ---------------------—- :
(a) Glaxy (b) Star (c) Planet (d) Satellite
g T —————— g
(&) s () AR (@) us (g ) Suus

2) Who propounded the Gaseous hypothesis regarding the origin of the Earth?
(a) E.Kant (b) K. Buffon (c) James Jeans (d) Laplace
gedl &1 Il ¥ Fid aaeg R aRebeuT &1 uliaures fdbee fhar ?
(31) 30 Bre (9) @0 q% (|) o= o= (T ) o
3) Who propounded the concept of Nebular hypothesis regarding the earth’s origin?
(a) Buffon (b) Laplace (c) Roche (d) James Jeans

ged] B Saafd & wEd MeiRer uReeu o1 yfaured fea fear ?
(1) 9% (9) oI () (T ) o= S
4) Who propounded the concept of Big Bang theory regarding the earth’s origin?

(a) Lockier (b) Roche (c) Russel (d) J. Lametier
gl B I ¥ FEREd 1 1 Ryens &1 ufaures e faar ?
(31 ) olfaR (9) M (9) A (T ) Silo odfeR

5) Who propounded the concept of tidal hypothesis regarding the earth’s origin?
(a) Rossgunn (b) James Jeans (c) Russel (d) G. Lametier
gedl &1 Ifa & FRfd O 1 e &1 ufaured feae faar ?
(a1) I (9) IS (9) Wa () Sho awfeR
6) Who propounded Nova and Super Nova theory regarding the earth’s origin?
(a) James Jeans  (b) Hoyal & Lyttleton (c) Otto Schimidt (d) J. Lametier



ged) &1 Sl I TR Adr gd guR Arar e b1 gfaure fea fear ?

(1) og oig (9) B1a U@ felfeaed (9) afier s (g ) Sfio ofesR
7) In which of the following hypothesis, the term ‘Filament’ has been used?

(a) Planetesimal  (b) Nova and supernova (c) Tidal (d) Binary star

g aR&BeTT # "fhee” TrTaell & 9T fovar =y & ?

() uemy () arvd guAlar  (9) WRE (T ) gdRS

8) In which of the following hypothesis, Robert Wagoner presented a detailed explanation?

(a) Tidal (b) Nova and supernova (c) Binary star (d) Big Bang
=1 9 9 | gReeur # ac =R 1 fderg e wd fobar ?
(31) SO ((§ )T vd goRAmE (9) gIR® () far dw

9) Which of the following hypothesis, existence of dark matter has been explained?

(a) Big Bang (b) Nova and supernova (c) Binary star (d) Tidal
71 # 9 59 dR&GedT 7 Frel Ul @ IR B ARAT B g T °

(ar) fardr () AT Ud guRArd] (9) guR® (T ) @R

10) In which of the following hypothesis, Jeffreys presented an amendment?

(a) Tidal (b) Nova and supernova (c) Binary star (d) Inflationary
=1 9 9 9 gR&GuT § STHRisT F HeeE Uwgd fhar ?
(o) SR (§ )¥rEr d guRAmEn (9) gar®d () ®ifa

11) According to Big Bang theory, what is the age of the universe?

(@) 1 billion years (b) 15 billion years (c) 15 lakhyears (d) 100 million years
=1 5 9 fbw uReeum d fad ameR = fawrg s wgd fdar ?
(M )13RIIY () 153RT a8 (F ) 15 @ a9 (g ) 100 fAfera a9

UNIT -1l Chapter-2 : Internal Structure of the Earth @M&Id—2 : gedT $ AT<IRS H=T )

12) Which of the following is not a means of study of the earth’s interior?

(a) Humidity (b) Density (c) Pressure (d) Temperature
= # & B gl o) IIRE TRAAT & ITIT HT AR Tl 7 7
(31) medn (9) g7 (¥) <49 () amMEH

13) Which of the following is the average density of the earth?
(@) 4.5 (b) 3.5 (c) 55 (d) 85
= § ¥ B gedt &1 & Id w9 7 ?



(31) 45 (9) 35 (9) 55 (g)85

14) Which of the following is not the layer of the earth’s interior?

(a) Mesosphere (b) SIMA (c) NIFE (d) SIAL
= # & B ged o1 AR WA & WA T8I g ?
(31) W Hsa (&) | (9) fw (7)) e
15) Which of the following is not the layer of the earth’s interior as per recent view?
(a) Crust (b) Mantle (c) Metal layer (d) Core
MY AATFAR 791 § A DI Yol BT A<D AFAT & URd 8l © ?
(31) B (9) Hed (W) =g wa (T) @R
16) Which of the following is not the layer of the earth’s interior as per earthquake wave?
(a) Exosphere (b) Lithosphere (c) Pyrosphere (d) Barysphere
PR TRl & SR W 7 4 F B gl Bl ARG TRAAT & R 8l © 2
(31) drErHSA (9) ZercHsd (9) Sawdsd (T ) Todsd
17) Which of the following is not the kind of earthquake wave?
(@ P (b) S (c) L (d) B
9 # § P B ) b IHR T8l § ?
(1) o (9) (W) @ ()@
18) Who discovered Mohorvicic discontinuity?
(&) A. Holmes (b) A. Mohorovicic  (c) Wooldridge (d) Guttenberg

ARG rEdT @ @l fhas @ g ?

(31) vo B (9 ) vo "ARRIfARI® (9) SaRa () et
19) The average density of the core of the earth is -----------=------- ?

(@) 4-6 (b) 7-9 (c) 11-13 (d) 21-23

gedl & HR BT T TFd ——— |

(31)4—6 (d)7—9 (9) 11—13 (T )21—23
20) Which of the following layer is found in the centre of the earth?

(a) Crust (b) Mantle  (c) SIMA (d) Inner Core

9 H 9 B WA YAl & D H URIT ST & |

(7)) e (F)#Hca (9) 4\ (T ) ARG BR

21) Guttenberg discontinuity is the delimitation between ----------- layers of the earth.

(a) Crust & Mantle (b) Outer & inner mantle (¢) Mantle & Core (d) Outer & inner Core



AT SRTFEEd gl & b &1 WRal @ Wy B AMT B |
(1) @ ud Hed (9 ) M=<IRe Ud 91 Hee
(9) #Hcd vd dR (T ) maR& TG 91— R

22) The motion of P wave ----------- in the core of the earth.
(a) Increases (b) decreases (c) fluctuates (d) zero
gl & HR H U1 TER B M ——— T

(3r) 9gar g (d)"gearg (9)dga-dgcarz () A
UNIT -1 Chapter-3: Isostasy : Pratt’s view (&aI—3 : YE~ei : UIc &7 fa=R )

23) Who propounded the concept of Isostasy at first?
(a) Airy (b) Pratt (c) Dutton (d) Jolly
YA DI HepouaT Hayerd fha- ufurfed fabar ?
()T (3)we  (9) 7 () Sireh

24) A mechanical stability between -------- on the earth’s surface is called Isostasy ?

(@) Mountain and sea (b) Sea and Plain
(c) Plain and Plateau  (d) Upstanding and low lying parts of the earth’s surface.

el R e ——— & 4/ U Fifye Rerdr 2|

(@) ydd Td AFR (9 ) 9FR vd 98
(¥ ) #eM Ud uoR (T ) 4 & I° IS 8T Ud 7 91T
25) Who introduced compensation level in context to Isostasy ?
(a) Airy (b) Pratt (c) Davis (d) Jolly
qAge & Fad H fba afayfd ad @1 e fear ?
()T (9)we  (9)sfaw () el
26) Who said — there becomes a inverse proportion between height and density in Isostasy ?
(a) Dutton (b) Holmes (c) Airy (d) Pratt
fhae el — JAga § Sds Ud o9 H Il FHIl Bl o7
(1)t (3)erma (®)T@d (T)WE
27) Who conducted Geodetic survey in Gangetic plain in 1859 ?

(a) Sir Jeorge Everest (b) A. Pratt (c) A.Dutton (d) G. B. Airy
1859 50 H T & HaM H fobael yfoRiiy Aderor foar ?




()W gaRe  (F)voure ()T Sed () Sfo o gad
28) Who stated - ‘Bigger the column, lesser the density’?
(a) Dutton (b) Pratt (c) Airy (d) Jolly
fas @1 — a1 W™, HH ga” ?
()t (9)me  (¥) v ()
29) Who propounded the concept — ‘Uniform depth with varying density’?
(a) Dutton (b) Jolly (c) Airy (d) Pratt
Uh FHIE TeNTs U4 gRdfdd g9cd” Gdhed=T &l gfaured feas fhbar ?
(sr)set  (F)Sfell (W) w0 (T)we
30) John Henery Pratt belongs to which country ?
(@) U.S.A. (b) Russia (c) Britain (d) Germany
S BRI UIe b qer o qRIt o ?
(31) o %10 IMRBT (s)sa (&) fdeqa () o0

31) ‘Level of compensation’ exists at which place according to Pratt?

(a) Beneath the earth surface (b) In Oceans (c) On mountains (d) In plain regions

UIe & TR &fagfit dct el Rerd 8Iam 2 |

(F)vdad & < (9 ) FeIFRI # () gddl W™ (T ) #AS A9FET H
32) Below the level of compensation, density --------- according to Pratt. ?

(a) Increases (b) decreases (c) equal (d) zero

Ue & AJAR — &fygid 9 & I ' ——— & |

() deme (9)vears (9)@ FT () YA
33) Who said — density never changes in one column?

(a) Airy (b) Pratt (c) Dutton (d) Jolly

P Pl — "UP W™ H " I g B |

() v (9)wme  (¥) Sed () Steh

UNIT -1 Chapter-4 : Isostasy : Airy’s view (3aR—I—4 : YE-ge : TR &7 =R )

34) Who believed in the law of floatation in context to Isostasy?
(a) Pratt (b) Jolly (c) Dutton (d) Airy
A & F<d H o] & e 9 e fdeas e fear?




(s)we (9)del (¥) e (T) T
35) Airy belong to which of the following country?
(@) China  (b) Britain  (c) Russia (d) New Zealand
R 7 A 9 fhw qw o wefd o ?
()@ (9)faes (@) w8 () oS
36) In which of the following year, Airy expressed his views on isostasy?
(a) 1809 (b) 1859 (c) 1909 (d) 1959
Ao W TR A 791 9 ¥ 5 av | oo e erad far?

(31)1809 (& )1859 (&) 1909 () 1959

37) Who said — Sial floats on Sima just like a boat in the water to explain Isostasy?
(a) Pratt (b) Jolly (c) Dutton (d) Airy
I D AT ¥ [ha $el —RTe I & IW I IHR IRl & o areil § A1 ?

(31) wme (@) Sl (&) s (%) T
38) Who believed in the law of floatation of Archimedes in context to Isostasy?

(a) Dutton (b) Holmes (c) Airy (d) Pratt

[T @ T4 ¥ MBS & IR/ & e H fbae favard e faar?

(81) seA (9) == (9) wod (&) e
39) Who explained Isostasy with the help of iceberg?

(a) Hayford and Bowie (b) Pratt (c) Holmes (d) Airy

el 29 Ul D1 Aee q AT qEerd o A & ?

(31) BBl g qrdl (d)we (9) & (<)
40) Who said — ‘Mountains have roots’ ?

(a) Holmes (b) Airy (c) Steers (d) Pratt

fhae Bel — "Udd & oS Bid & ?

() &= (9) v (w) =4 (7)) e

41) Who said — “Any column has one part on the earth’s surface and another nine parts remain
beneath its surface in context to Isostasy?
(a) Pratt (b) Holmes (c) Steers (d) Airy
e @wer —fafl ff =™ BT TE 9T dd & SWR Td gART Al AR A & A g 8 ?
(s)we (F)elelt (¥) ST () T
42) What difference appeared at Kalyana and Kalyanpur during latitudinal determination by two

different methods?



(a) 5.236" (b) 2.536" (c) 9.236"  (d) 6.536"
BT Td HAOYR H &1 = fafdl & g1 tereii FeiRor & SRM @ R mr?

(31) 523" () 2536 (d9) 9.236” (T ) 6.536”
43) G.B. Airy belongs to which of the following country ?
(a) Austrelia (b) Germany (c) Britain (d) Canada
AT & F<d ¥ o] & e 9 e fdeas e faar?
(o) smegferm (@) oY (@) faes (=) o
44) Whose view in context to Isostasy is more popular in comparison to other’s?
(a) Pratt (b) Heiskanan (c) Dutton (d) Airy
A & F<d ¥ [hae! [TaR TR & [TaR @ o # 1fde draila 572
(31) e (§) fewpr= (9) S (T)

UNIT =1l Chapter-1: Mountain Building theory : Kober’s view (3&a1-1—1 : 9dqd fa#for
Rrara : IR @1 IR )

45) A long, narrow and shallow water depression is called ?
(a) Anticline (b) Syncline (c) Geosyncline (d) Anticlinorium
T I, ool 1§ sl stegel T ——————— HEAT T |

(1) mAfa (9 ) F=id (d) yg=fd () FHuANT

46) Kober belongs to which of the following country?

(a) Germany (b) Britain (c) France (d) Greece
PR = # 9 fHa <9 9 I g?
(31) ST (9) foea (|9) B (g) 4=

47) Which is not the stage of a Geosyncline?
(a) Orogenesis (b) Median mass (c) Lithogenesis (d) Gliptogenesis
JAGT & F=d H AP [aR g & [daR o7 o 4 31 Arsiia 87?
(31) wad AT BT raRe (9) 7eg fis
(9 ) @I FAEOT @ @Rl (T ) yad et Bl Srawer

48) Which of the following is not a kind of Geosycline?

(a) Temporal-geosyncline (b) Meso-geosyncline
(c) Poly-geosyncline (d) Mono-geosyncline

/= § 9§ B Ed & YR T8l 2?



(31) DifeTd qaE=Id (9) HeaRer qa=Id

(W) aga qa=ia (=) gepet spaifa
49) Who wrote the book — ‘Der Bau der Erde’?
(a) Wegner (b) Kober (c) Dally (d) Holmes
TR IS¢ W IR AMG GHS fhaa! fodl g8 27
(1) aTR (9) PR (&) Seh () ers
50) The name of mountain building theory of Kober is ?

(a) Radioactivity theory (b) Convection current theory
Geosynclinal theory  (d) Sliding continental theory

PIER P ydd o7 Ryem< &1 74 gl
(&1 ) A wfdparan Ryemr< (9 ) Haes ae Ryer
(9 ) E=fa Rera (T ) 9 e Ryem<

51) In which of the following mountain orogeny, the Himalayas took their origin?
(@) Chernian (b) Caledonian (c) Hercinian (d) Alpine
P 3§ 9 e ddieor § Rerer gdd @ Sy g8 2
(31) =REFA (9 ) dfcrei=A (9) s () sreure

52) Kober’'s mountain orogan theory is not based on which of the following?

(a) Concept of Holmes (b) Concept of Haug

(c) Concept of Hall (d) Concept of Dana
PR BT gaq AT Ry = § 9 fg o= smenlRa =18t 287

(31) BFF & Hbeudr (9 ) BN DI Hhedn

(|) Bl & Hheds1 () SHI I Hheud

53) Which of following force is responsible for Kober's mountain building?

(a) Uplift force (b) Tension force (c) Compression force (d) Applied force
DR & gad AT H 9§ B A1 9 SaRarRT 87
(1) SBId g (&) TAIT dd (9 ) <ard 9ol (T ) 9gaT 9t

54) According to Kober, mountains formed on the both sides of geosyncline is called ------- :
(a) Median mass  (b) Randketten (c) Rigid mass (d) Fore land
PR D JJAR YIS QMI [HIR R G Y& bl ———— HET ST 87?

(a1)wm fife (9)VSDbed (W) T y@e () WY



UNIT =1 Chapter-2 : Mountain Building theory : Holmes’s view (@Ea™I—2 : 9dq fior
Ryarg : 8/ 3T faur )

55) The name of mountain building theory of Holmes is ?

(b) Radioactivity theory (b) Convection current theory (c)
Geosynclinal theory  (d) Sliding continental theory

B & udd faEior Rer &1 9@ =

(1) Nfear Afbadar Ry (9) Hagd a9 REr

o~

(4 ) =t Ryem=< () 7= e Riem

56) Whose view regarding mountain building is based on radioactive minerals?
(a) Kober (b)) Jolly (c) Dally (d) Holmes
gaq fafor | wRftd feaer fer feamfea uererf w® smenRa 2?2
(1) @R (F) el (&) Selt () e

57) Holmes thermal convection theory of mountain building came into existence in ------- :

(a) 1882-83 (b) 1928-29 (c) 1954-55 (d) 1982-83
gad 0T & ARt g BT g dagd avi Riem ——— 39§ SiRad H emr ?
(31) 1882-83 (9 ) 1928-29 (¥) 1954-55 (<) 1982-83

58) Which inner layer of the earth has maximum reserve of radioactive minerals?
(a) Sial (b) Sima (c) Nife (d) Core
gl & s MIRe wa # A1 |l @iell &1 siftedd ¥sK 22
(31 ) Rarer (s)dsm  (|) v (T ) BR

59) Convection current originates from which of the inner layer of the earth?
(a) Sial (b) Sima (c) Nife (d) Core
ged] & b RS URd H Hagd aT Bl Idfd Bl 87
(1) R (9)dmm (|) A (T ) BR

60) Concept of ascending and descending currents is found in which theory of mt. building?
(a) Joly (b) Jeffrey (c) Holmes (d) Kober
udd feraror & b Ryenwd # RIS Ud SfeRIE] gRBI &l Hhed &l T8 87
(1) el (3)ow  (9) g (T) PR

61) Holmes geosyncline is formed in which of the stage of mountain building?

(a) First stage (b) Second stage  (c) Third stage (d) None
BT @ =t gdd T @ {6 sraver # fAfia gl 27



(o) o araen (9 ) g smaven (9) JA @R () BIg Aal
62) Which of the following is not the internal layer of the earth according to Holmes?

(a) Granodiorite (b) Silicate (c) Eclozite (d) Amphibolite

BT @ ITJAR 1 # & HIF gl & SRS WA -Tel 27

(31) IemEREe (9) Riferde (¥) ggaemée () URpidieioe

63) In which stage of mt. building, the motion of convection current becomes maximum?

(a) First stage (b) Second stage  (c) Third stage (d) No stage

vad AT & R srave H Hagd R Bl AT Sffdmdd Bl 87

(o) o aawenn (9 ) fgcdig oraven (9 ) qA e@en () fodr 9 =&
64) According to Holmes, geosyncline is formed at which of the following place?

(a) Plateau region (b) Continental shelf area (c) Desert area (d) Plain area

AT & F=d H (AP [TaR TR & TR &7 o 4 31itie Arsiid &7
(31) eI & (9 ) Wergig 7idace (9 ) XARa™r &3 (§ ) He™r 90T

UNIT =1l Chapter-3 : Continental Drift theory : A. Wegner’s view (3&a1d—3 : ARG Yq18
Ryem= : TR @1 fER )

65) Alfred Wegner belongs to which of the following country?

(a) Greece (b) Ireland (c) Germany (d) France
Jehe IR 71 # | g <91 27
(o) W (9) MReivs (F) S (3)»<
66) Who propounded the concept of continental drift at first ?
(@) A. Wegner (b) P. Placet (c) Abraham Artelius (d) Francis Bacon

ARSI UdTE &1 FhoudT bT Fdud ufaured foa foar ?
()0 IR (9) o e (9 ) oEEd IRefermd ((© ) it d&+

67) What is Pangaea according to Wegner?

(a) Old rigid landmass (b) all landmass united together
(c¢) Landmass of the northern hemisphere (d) Landmass of the western
TR & AR U aar 872

EIREERTREIEES (9) ot wererEs U AT Y

() I Mg & Wa@rs (T ) aRFH Tidllg & RIAEvs

68) Which of the following force is not responsible for wegner’s continental drift?



(a) Tidal force (b) Floating force

(c) Force of Buayancy (d) Gravitational force

TR & TEEHE TE & fou 91 3 4 319 91 9o Iararl 78 22

(1) SR g (9 ) R@ A (9 ) aTeierar 9o (T ) THATHY g
69) Wegner’s Pangaea starts disrupting from which of the following geological period?

(a) Carboniferous (b) Cambrian (c) Eocene  (d) Pliestocene

TR & U &1 fdos = | 9 fea dirfie &ra 9§ uRw 8ar 87

(31) FRAfEE (9 ) dfgaa (9) RE () @R
70) What is wandering of poles according to Wegner?

(a) Shifting of north pole towards south  (b) Shifting of both poles elsewhere

(c) Shifting of south pole towards north  (d) Shifting of both poles towards west

TR & JATAR gal B gHT R 2°?

(o) SO gd BT Sy Bl AR RgFep=1 (9 ) AT gl BT FER—IeR Rgqep=1

(9 ) <ol ga b1 SR B AR Rawwebr (7 ) &I gdl b1 affem B 3R g
71) What is Gondwana land ?

(a) Eastern piece of Pangaea (b) Western piece of Pangaea

(c) Northern piece of Pangaea (d) Southern piece of Pangaea

M o a1 27?

(31 ) YRt &1 qRET Thel (9 ) §Rmar &1 ¥ caher

(w0 ) UfSrar &1 S gahe () URmm @1 <l gwer
72) Continents drifted towards which direction due to tidal force?

(a) North (b) South (c) East (d) West

SIRR 9 & $HROT ATl BT yaTs fbd fa=m @1 JiR gar?

()3 (9)=for (W) @ (T ) aRem

73) Which of the following is not the proof in favour of continental drift?

(a) Jig-saw fit (b) Origin of island arch

(c) Antartica on South Pole (d) Similar fossils on opposing coast of Atlantic ocean

=1 % 9§ D19 AEEI ydTe & Ul H UHIUT el 57

(o) RrT = fhe (9 ) WY&l =19 & I@fd (9 ) SR ga R s o Refd (
T ) Uedifed HeMR @ Qi fauid dei R SHdred & FHdl

74) Tethys sea was formed in which geological period?

(a) Silurian (b) Permian (c) Oligocene (d) Carboniferous



< IR &7 FET0T g ARTfies wret | gar?
(o) @RI (9 ) wma (9) Sferi® (T ) FEim™
UNIT -1l Chapter-4 : Plate Tectonics : (QEaTd—4 : @i faadf~a )
75) Who used the term ‘Plate’ at first?
(a) Le Pichon (b) Morgan (c) J.Tujo Wilson (d) Parker
i eTdell BT ANT |FaueH faee fear?
(1) de=  (9)dr= (|) <o ol Ao (T ) g
76) Who discussed the mechanism of Plate motions?
(@) Isacks (b) Morgan (c) Mackenzie & Parker (d) J. Tujo Wilson
e wie wfa @ f&ar fafdr &1 o= faar?
(ar)gemd (9 ) HAFA (F) APl Ud YT () Slo gt faeras

77) Which of the following is not a plate margin?

(a) Subductive (b) Conservative (c) Destructive (d) Constructive
71 9 9 3 wie fdRT 78 87
(ar)afug (9) w=ell (9) fa=mrsh (T ) T=ATHD
78) Who postulated that the earth behaves like a giant magnet?
(a) W. Gilbert (b) J. Tujo Wilson (c) Dutton (d) Morgan
e ufcrarfed far fo gedl ueh fawnet g & TR FdsR HRal o7
(o) frree (@) S0 goll e (9) sed (&) 9FiA

79) Which of the following is not a type of plate collisions?

(a) Collision of two oceanic plates (b) Collision of two continental plates

(c) Collision of oceanic & continental plates (d) Collision of two mountain plates

/1 § & P wic cHRa Tl 87

(31) &I ATRR ©iel &1 THIIG (9) a1 #eeeg wiel &1 chRd

(9 ) AR TG ARSI @il & <h¥id (€ ) &I 94 Wici &l Shrd
80) Which of the following is odd?

(a) Benioff zome  (b) Explosion zone (c) Subduction zone (d) Collision zone
= & D9 gRiE T8 'Y
(31) cohvmE Aead (9 ) fawpiec #sad (W) U #Asdd (T ) IIRIH Hed

81) Which of following is not a major plate?

(a) Eurasian plate (b) Pacific plate (c) Austrelian plate  (d) African plate



e § 9§ B ged ©ie T8 22

(o) A wie (9 ) IRifhd wie (F) Rgfedd e (T ) 3ffbdd @i
82) What is the total number of major plates?

(@ 3 (b) 7 (c) 16 (d) 50

JEd wicl @I fo w& fha g?

(a1)3 (9)7 (F) 16 (<) 50

83) End part of a plate is called ---------------=------ ?
(a) Plate boundary (b) Plate motion (c) Plate margin (d) Plate collision
AT & T<H IH ABUT 27?
(o) wie &M (9) =ic fa (9) wie R (T ) wic caxia
84) The average motion of plate is----------------- per year ?
(@) 2-3cm (b) 2-3 mtr (c) 2-3km (d) 4-5mtr
fpdll wie @1 1fq ufr ad Brell 27

(ar)2-3w0#o (9)2-3Ho (4) 2-3fbo Mo (&) 4—5 #Ho

UNIT -1l Chapter-5: Folded topography (@ad—s5 : aferd wremaf )

85) Peak like uplifted part in a fold is called ?
(a) Anticline (b) Syncline (c) Plateau (d) Himalaya
AT BT IRE I IS W BT geid BB B7
(31) IuAfy () |=fd (¥) worR (T ) feamc

86) Which of the following force is responsible for folding?

(a) Synclinal force (b) Tension force  (c) Uplift force (d) Compression force
o @ forg /9 # & @19 |1 991 Iaxar 27
(1) g=fd g1 (9§ ) T919 9t (¥) Sold dd (S ) <99 g

87) Animaginary line passing through the middle of an anticline is called ----------- ?

(a) Axis of anticline (b) Axis of fold (c) Anticline line (d) Synclinal line

IT PIGUD G, I ORI & AT F JolRdl ———— HEAT 87

(1) uAfT 3ter  (F ) e w31 (| ) AUAR @1 (T ) | ¥@n
88) Several smaller anticlines in a major anticline is called ------------------ ?

(a) Poly-anticlines (b) Smaller-anticlines  (c) Anticlinorium (d) Synclinorium



(o1) mgmafat () Bic oomfoal  (9) wwemafa (=) wAffa
89) Horizontal force is called -----------=---=----=-n-meunmx ?

(a) Tangential force (b) Tensional force (c) Upwarping force (d) Down warping force

aforst ga1 @1 P ATl 77
(1) RRET 9 (9 ) TF@ g (9 ) SqEded 91 (€ ) ¥ 9

90) Two sides of a fold is called ----------------- ?
(a) Dip (b) Bend (c) Warping (d) Limb
I & THI IR b AR B ——————— HET ST 2°
(sr)afr (s)ss (¥) HdeH (g ) ged ol
91) Simple fold having uniform inclination in both the sides is called ----------- fold.
(a) Fan (b) Symmetrical (c) Asymmetrical (d) Isoclinal
RO gor fTqd QM1 3R & WA 991 gebld 8idl 8, ———— qeT DB & |
(ar)u@r (9)9aHd (9) A (T ) 997
92) Fold having both the limbs parallel and horizontal is called ----------- fold.
(a) Monoclinal (b) Isoclinal  (c) Recumbent (d) Overturned
gor= e T ot FHH=R Ue afast 8, —————— AT HEAT © |
(31) Topfe=d (&) F9d (9 ) uRaferd (= ) ufaafera
93) The broken limb of a fold is called ------------ fold .
(a) Closed (b) Open (c) Nappe (d) Isoclinal
oI B T g8 ol HE B |
(a)a= (3)gam (9) d@m@es () 9974
94) When one limb of a fold is thrust on another, such fold is called ---------- fold.
(a) Overturned (b) Asymmetrical (c) Isoclinal  (d) Monoclinal
TG T BT Yh ol AR R el ol € a5 3 ————— qer Ped o |
(3 ) ufcaford (9) aqafdd (9 ) |89 (&) Tofarid
UNIT -1l Chapter-6 : Faulted topography (@amI—5 : HR1d wramraf ) )
95) A fracture in the crustal rock is called ------------------- ?
(a) Fold (b) Dip (c) Fault (d) Scarp
qucd & Tl H 9 e G FSHT Pl ———— HET ST 2|

(F)gem (F)Afd@ (F) 99 (T ) &R

96) Fault is caused by ------------------- force.



(a) Buayancy (b) Tension (c) Compression (d) upward

g9 &1 fmior g & BRI BT 2 |
(1) Saemad (9 ) a9 (9) <a@ (T ) IuRYE

97) Steep wall like slope caused by faulting is called ------------- .

(a) Fault scarp (b) Fault plane (c) Fault dip (d) Foot wall
Y & HROT II~ WS IR STl Bl —————— HET Il ¢ |
(F)HI HMR  (9) dodad (F) 99 4fd (<) urs Mfa

98) Which of the following is not a type of fault?
(a) Normal fault (b) Reverse fault (c) Monoclinal fault  (d) Lateral fault
71 4 9 39 ¥9 & UBR T8 2°
(31) A= 99 (9 ) YcbH del (9) Toad 9o (g ) uredadi 99

99) Angle between fault plane and horizontal plane is called ?

(a) Fault plane (b) Faultscarp (c) Faultdip (d) Faultjoint

93T dc1 Ud &S dd & 79 & P I —————— HBT STl 27?

(ar)¥oad (F)¥HR (F)Fwad () 99 I8
100) Which of the following is not the expression of fault?

(a) Synclinorium (b) Graben (c) Step fault (d) Rift valley

e @ A 3Id ATBUT 87?

(o) gafEfa (9 ) U1eA (|) |uer g () g9 gl

101) A series of faults in an area is called ?
(a) Rift valley (b) Normal fault (c) Graben  (d) Step fault
fodr e o [T oFd 9ol & &H B —————— BB ST & |
(3r) &= w1t (9 ) AHET 59 (9) ued (T ) |OE ¥
102) Deepest graben in oceans is found in the form of ------------------- ?
(a) Oceanic deep (b) Ocean ridge (c) Ocean basin (d) Oceanic platform
TERRI # Haifdres T are+ wq H U S 2
(o) wgd &g (9) §d ded (9) g R (T ) 9 e
103) Dead Sea of Asia is an example of ?
(a) Normal fault (b) Reverse fault (c) Rift valley (d) Anticlinorium
TR BT 90 9FR BT ISR 2 |

(31) 9Erg 99 (9 ) GobA ¥ (|) g9 gl (&) FHIUHART



104) Normal tensional force produces only ---------------- ?
(a) Cracks (b) Fold (c) Graben  (d) Scarp
A TG 961 ddal I BRAT 57
(1) Fewt (F)aed (F) UEdT (T ) PR
UNIT — Il Chapter-1: Normal Cycle of Erosion : (J&R—I—1 : FY WS IF )
105) Who said — “Present is the key to the past™?
(a) Homer (b) Hutton (c) Davis (d) King
fhA BT — "TCA B A Bl Foil 872
(sr)erR (3)®ed (9) sfaw (w)fon
106) William Morris Davis belongs to which of the following country?
(a) Russia (b) India (c) Germany (d) U.S.A.
faferam AR Sfaw 1 & & fora <o IR @72
(s7)®F (F)¥Ra  (9) &0 (T ) Fgad I5T IMRBI

107) Who propounded the concept of uniformitarianism?
(a) Gilbert (b) Hutton (c) Davis (d) Penck
UhwUdde ® e & gfqure fhaq fear?
(o) frgd (9)8ea (9) Sfaw (T) U

108) Who propounded the concept of geographical cycle of erosion?
(@) Penck (b) Hutton (c) Davis (d) King
WMol UG IF BT Fbod-T fhaq gfaurfed fear?
(1) dUwm (9)geA (|) sfa|m (T) o

109) Who said — “ A Landscape is a function of structure, process and stage "?
(a) Hack (b) Hutton (c) Davis (d) King
PO BET — "WITHY AT, UfHAT T 3TaveI] BT Ufdhol 8'7
(s1)ed (@)sed (=) sfw (=) fow

110) According to Davis, the end product of a cycle of erosion is called ------------- ?
(a) Panfan (b) Pediplain (c) Pan plane (d) Peneplain
Sfe & IATAR RS I9F & 3if<qd IR B ——— CECE

()W B (F) W (¥) Uwe (T ) Ui
111) Which of the following is not the stage of normal cycle of erosion?
(a) Pre-youth (b) Youth (c) Maturity (d) oId



= 9 DI I IIRET dd Bl IRl el 87
(3r) Wrgaraverr () garawern (W) HieraRen (<) gemaxen

112) In which stage of erosion cycle, Vertical erosion in river valley becomes active?
(a) Pre-youth (b) Youth (c) Maturity (d) Old
AREH TP B b g § 9] 91t § owgad TReET AfBd glar 87

(o) drgamaenr () garaven (W) dierawenr () ggrawern

113) Serpentile way of a river is called -------------- ?
(a) Ox-bow lake (b) Delta (c) Meander (d) Diara
T & fuieR I B —————— HEd B°

(er) BT el () Seer (W) AR () feam
114) In which stage of erosion cycle, delta is formed”?

(a) Old stage (b) Maturity stage (c) Youthful stage (d) Pre-youthful stage
IS IF & b AT # Seel &I fHfor grar 27

(o) ggmawen (9 ) e (9 ) gaawel (T ) gd garaRen

115) Residual hill on the surface of peneplain is called --------------- ?
(a) Piedmont (b) Rapid (c) Monadnock (d) Gorge
U™ HEM & |dg W Rd @iie ugel —————— HEARH &7
(ar) fiRue (@) farder (9) AdsA® () fsl
UNIT -1l Chapter-2 : Arid Topography : (3EI@—2 : Y RITH )

116) Which of the following is not a arid topography?
(a) Dreikanter (b) Gara (c) Arete (d) Inselberg
= 5 9 o I el T8l 8?

(a1) P (9) R (|) qeT ded (T ) SAAGH

117) Which of the following is not the work of wind erosion?
(a) Abrasion (b) Plucking  (c) Deflation (d) Attrition
7 % & D9 yad &1 B TE 2°
(31) ueNor  (9)Ided (9) uaEd () f~Teyo

118) Smaller desert hallow due to removal of sands from desert surface is called --------- ?

(a) Yardang (b) Demoiselles (c) Burkhan (d) Deflation basin
HERIARI A W d1e] ST foly 1 & dRvr A B¢ 81 Td B ——— B8 ¢ |

(1) IR () & (9) =@M (T ) smyare IR




119) Inselberg is also called ------------------------ .

(a) Sand dune (b) Bornhardt (c) Zeugen  (d) Mushroom rock
SIAGT B Al e I 7 |
() arcpet ¥qu () 9EIC (W) S () oD

120) Burkhan belongs to which of the following topography?
(a) Fluvial topography (b) Karst topography (c) Arid topography (d) Glacial topography
e = ¥ 9 e et 3§ e ar 27
(31) STei WeThd (9 ) B WeRid (9 ) Iob Wi (€ ) A wraramfd
121) Which of the following is a depositional arid topography?

(a) Ventifacts (b) Mushroom (c) Stone Latice (d) Sief
= 7 4 o [eues I e 87
(&) adbae () FTTed (9) ew (T) <™
122) Which of the following is a depositional arid topography?
(a) Wind window  (b) Sand dune (c) Yardang (d) Bridge and window
= 7 9 o oS Ish e 27

(o) ga araraT (9) aefp@ (W) IRGET (T ) go AR sl
123) Which of the following is not an erosional arid topography ?
(@) Loess (b) Inselberg (c) Zeugen (d) Dreikanter

71 9§ DI RS &b RIATRIT 8°

(ef) arw (9) g9aqd  (9) S () §EPre
124) Which of the following is formed due to transportation work of wind?

(&) Mushroom (b) Dune (c) Stone latice (d) None

=1 4 9§ B g & gRagd s | M g g?
(o) gored (9) dregpRgy (¥)  STTeld (T) IS el

125) In which of the following state of India, arid topography is formed?
(a) Bengal (b) Punjab (c) Rajasthan (d) Orissa
IRA & e 59 ¥ Y WIATqa &1 fFHfor grar 272

(1) dmer (9) goirg (9 ) TSR () 3T

UNIT -1l Chapter-3 : Glacial Topography: (3Eamd—3 : fam wererafar )
126) Which of the following is not a glacial topography?
(a) Hanging valley (b) U-shaped valley (c) Riftvalley (d) Moraine



=1 ¥ B9 AT g T8 8?
(31 ) ofeawdl Tl (9 ) J—MHR & 91l (| ) d9q a7 () B9
127) Which of the following is formed by depositional work of a glacier?

(a) Nunatak (b) Drumlin (c) Tarn lake (d) Fiords
=1 4 ¥ 39 Bar @ Feu et 3 [ g 27

(o) Fewd  (9)gafed  (9) eH & (T) o
128) Which of the following is formed by depositional work of a glacier?
(a) Tarn (b) Horn (c) Crag and tail (d) Knob and basin topography
=1 § 9 39 B @ Feu et 9 [ g 27
(sr)e (F)8F  (9) %7 Y= (<) A" Td IR erarai
129) Which of the following is not the name of cirque?

(@) Karin Germany (b) Thoriin France (c) Botnin Norway (d) Cwm in Wales

71 % § DI ¥ &1 T4 T8I 77

()N HBIR (F) B HARN (F) A A ded (T ) ded H dH
130) Which of the following is not a component part of a cirque?

(a) Head wall (b) Tail (c) Basin (d) Threshold

71 % 9 39 P 9D & 9N T8l 87

(o) oY fearr (9 ) U (|) IRE (T ) Frger
131) Which of the following is glacio-fluvial topography ?

(a) Nunatak (b) Morain  (c) Eskar (d) Giants stairway
e IETdel! BT WART Fayed et far?

(31) TACH (9)fFe (¥) &R (T ) SIHR QOH
132) The zone between permanent and seasonal snow is called -------- :

(a) Snow line (b) Ice cap (c) Snow field (d) Ice shelf
Il wd el f2H & 1= @1 AnT HEA T |

(1) (9)fRmed (w) e (T ) f29 Boon
133) Bergschrund is formed in which of the following topography?

(a) Nunatak (b) Drumlin (c) Cirque (d) Hanging valley
qatsgus @1 fmier e § 9 59 wrerefa § gar 27

(&) Fres (7)) gofer (@) 5@ (7)) dead o

134) In which of the following topography, Peternaster Lake is formed?




(a) Cirgue (b) U-shapedvalley (c) Giants stairway (d) Loess

e AR § Yewer s &1 Ao gram 272

(F1)Fd (T ) J—NMHR & gt (9 ) SADR AOE (T ) a4
135) At which of the following, hanging valley is formed?

(a) At meeting point of a big and small glacier (b) On the mountain peak

(c) Near fiord (d) near giants staireway

SIcahdl =TSl &1 AT HEf 8 &7
(31) T 91 v Ua Biel A & feqfag m (9 ) gdd @l W)
(9) IS & Fac (%) ISR AU & e

UNIT = Ill  Chapter-4 : Karst Topography: (3aR—I—4 : B RIS )

136) Which of the following is the most important erosional work of ground water?
(a) Attrition (b) Solution (c) Corrasion  (d) Hydraulic action
AT STt BT Haitd Aeedyul UREATHD BRI 1 H F B © ?
(o) ATy (9 ) geAfsar (9 ) AUENl (T ) STl B

137) The largest Karst region of the world is found in which of the following country?
(a) India (b) Myanmar (c) Yugoslavia (d) France
=1 9 fow <o ¥ v &1 9aifde fgd < uaer arm ran 27
(e)¥Ra () FgmR (9) gaeentaar () w4

138) Which of the following is not a karst topography?
(a) Sink hole (b) Polje (c) Tombolo (d) Lappies
= § 9§ B RS WA T8 57
() ga T (9)Ioqpee (F) b (T ) od

ol

139) Which of the following is not a karst topography?
(a) Blind valley (b) Loop (c) Doline (d) Uvala
= # § B dRE RIATRfa T8l 57

(o) e mnct (9 e (@) <remeT () 9ags
140) Terrarosa is formed in which of the following topography?

(a) Coastal (b) Fluvial (c) Glacial (d) Karst

SRS 7/ # 9 6 weramafa § [ gar 87

(o) wge qem (9) Seia (@) fearh (%) @

141) Which of the following is not an erosional landform in a karst region?




(a) Antecedent valley (b) Blind valley (c) Karstvalley (d) Solution valley
/1 # 9 P TREAITd WIeley dIRE Uew H [fia F8) grar ?

(o) ydadt arct (9 ) 3l ey (9) @< gl (g ) 91 g1l
142) Which of the following is not a depositional landform in a karst region?

(a) Stalactite (b) Stalagmite (c) Ponor (d) Tufa
B U H 4 # | P19 NeuTHSG wrewy 8§ ?

(31) Weolderse (9 ) el HISE (9) 9AR () qbr

143) Which of the following is not a depositional landform in a karst region?

(a) Sinking creek (b) Heligmite (c) Drip stone (d) Cave pillar

RS U H 9 H 9 39 FeuTed iy T8 7§ ?

(3r) o Faf¥rer (9) gfemge (9) f3u (T ) B &
144) All the depositional landforms in a cavern is collectively called ------------- .

(a) Travertine (b) Speleothem (c) Flow stone (d) Glubulite

Tl H I TR & eITed gl B WYad w9 H ——————— HET ST B |

(31) gaRerza () wiferare (9) warRed () garse

UNIT —1ll  Chapter-5 : Volcanic Topography: (3I@—5 : SATAER RIeTai )

145) Which of the following is not a type of volcano as per periodicity of eruption?
(a) Active  (b) Dormant (c) Stromboli (d) Dead
ISR Bl G & AR 711 # F DI S & YhR T8l 2°

(o) Sird (9) gga (9 ) el (g)9d

146) A narrow pipe through which the internal lava erupts on the earth surface is called ------ ’

(a) Volcanic crator (b) Volcanic vent  (c) Volcanic pipe (d) Volcanic cone

T FHI0T UIgY I EIdR SMIId offdl el IR ISR Bl 2 2
(31) SATIgE! $ex (d ) Sareqa! @ ( 9 ) S|l Tl (T ) Sarerigdl v

147) Which of the following is not a central eruption type of volcano?

(a) Mud flow (b) Peleean type (c) Hawaiin type (d) Visuvius type

1 § ¥ B9 < SR UHR BT Saregdl 78l & 7

(&) U yare (9) fUferm gerR (@) sasad voR (T ) fagfdas ger
148) Which of the following is not an intrusive volcanic topography?

(a) Lava dome (b) Lava plain (c) sill (d) Dyke

= # B TIRe STl eraraRfa e § ?




()@@ pag (F)@@rdee (9) f@ (7)) see
149) Which of the following is not an intrusive volcanic topography?

(a) Lava plateau (b) Lopolith (c) Laccolith (d) Batholith

1§ B aaRe Saremgdl RIeTdRfd T8 57

(3r) amar weR (9 ) ediferr () idifere (T ) denferer

150) Which of the following is not an elevated form of volcanic cones?

(a) Cinder cone (b) Composite cone (c) Parasite cone (d) Crater

=1 39 STl oig &1 Sfrd wu T8 872

(o) Rrsy vigg () PB@ ey (W) aifm g (T) S
151) Dipression formed at the mouth of a volcanic vent is called ------------ .

(a) Caldera (b) Geyser (c) Crater (d) Vent

SITAHET el & IW g R AT T dr —————— HEN ST 2 |

(31) Bles () ™R (F) dex () Fell

152) A vent through which there is emission of gases and water vapour is called

(@) Fumaroles (b) Geyser (c) Lava (d) Tsunami
9% g9 99 gax 19 1d Siaay Aderd §, ——————— HEATT ¢ |
(a1) g3k (9) TR (9) o@r (<) g
153) Fumaroles take their origin due to ------------ volcanic eruption?
(a) Central (b) Hawaiian (c) Active (d) Fissure

————— SATATE! SR & BRYT oIk &1 Safa g ¢ |
(o) e () gaEad  (¥) W@ (T) |
154) Stromboli is an example of ------------- volcanic eruption.
(a) Visuvious (b) Dormant (c) Active (d) Dead
el ——————— SATATHE! ISR BT I&TERT 3 |
(o) fogfaaw (@) ggw  (9) 0@ (=) 7a
UNIT -1l Chapter-6 : Coastal Topography: (3Tdr—6 : T/ FRITHT )

155) Which of the following is not the erosional agent in coastal region?

(a) Tidal wave (b) Sea wave (c) Wave frequency (d) Tsunami

TS U H 7 H | P 3RS &I gd T8l 8°
(31) ORI ok () §gdl ofey (W) v gl () g
156) Which of the following is not a coastal totpgraphy?



(a) Cave (b) Beach  (c) Ponor (d) Hook
1 % & DI AYEdEd WelRd T8l & ?
()P (9)d= (W) AR (T) 8D
157) Steep rocky sea coast rising almost vertically above sea water is called ------ :
(a) Coastal cliff (b) Cove (c) Blow hole (d) Stack
L Tt ¥ SR Ag I FHE aC ———— BHEAT E |
(o) vgra faow  (9) agfaler  (9) @@ s (3) ©s
158) Which of the following is not a type of cliff?
(a) Composite cliff (b) Weak cliff (c) Resistant cliff (d) Notch cliff
71 4 9 39 9 % & geR T8l 2?
(1)1 fadews (9) o99IR fdow () SaRE fooaw (T ) @4 foaw

159) Which of the following is not a zone of wave cut platforms?

(a) Meso-littoral zone (b) Front-littoral zone (c) Supra-littoral zone (d) Sub-littoral zone
71 # 9 o W g a9 &1 Fed T8l 77
(31) Aegas wsd (9 ) ARl 4sdl (9 )SuRder #sd () Mde Jed
160) Which of the following is not the coastal depositional landform?
(a) Beach (b) Bar (c) Hook (d) Cove
= 5 9 o wgde Meaues it T8 8?
(s) gfem (@) e (W) g0 () 3USPR HH
161) Which of the following is not the coastal depositional landform?
(a) Loop (b) Skerry (c) Spit (d) Tombolo
= 5 9 B wade Meues Wit T8l 8?
(a1)Pu (F)w@0  (w) Roe (7)) <wrar
162) Sand ridge formed / deposited paralled to shoreline is called ------------ .
(a) Loop (b) Tombolo (c) Bars (d) Lagoon
AR fHIRT & TR F&fd a1 ded o ———— HET ST B |
(s1)e@ (d)cHrar (|) Al (T) sia

163) A bar connecting two main lands is called

(a) Barrier (b) Loop (c) Looped bar (d) Tombolo

(1) (9) <™ (9) BoolaR AfHT (T ) erarar



164) Bar formed paralled to the coast but not atteached to land is ---------- .
(a) Offshore bar (b) Barrier (c) Spit (d) Hook
qec & TR AT e S g @ 98T T 8 ————— HEAT B |
(3) smae AT (F) g (w) Roe ()@
UNIT - IV Chapter-1: Composition & structure of atmosphere : (S&IR—I—1 : TFHS I

ERIECRACEKRCEID)

165) What is the estimated altitude of the atmospjere?
(a) 100-200 km  (b) 100-200km  (c) 100-200 km (d) 100-200 km
TIASA I AT SA18 a1 aifas Sl 82

(31 ) 100-300 fdHoH0 (9 ) 1000-2000 f0¥I0
( | ) 29000-30000 fd0#T10 ( &) 100000-200000 fH0HI0

166) Gaseous envelop surrounding the earth surface is called ------------- .
(a) Lithosphere (b) Hydrosphere (c) Atmosphere (d) Biosphere
Y9 & TRT 3R TR IR 3R BT HE ¢ |
(o) s (9) fedsa (W) drgHsd (%) Srawsa

167) Which of the following gas aborbs the ultra-violet ray of the sun?

(a) Oxygen (O, ) (b) Ozone (O3) (c) Hydrogen (H,) (d) Carbon-dio-Oxide (CO3)

D A I P A e arell YRS {61 BT | okl 27

(1) SIS (02) (T )T (05) (W) BRI (H, ) (]) PTET—STZ—MAALS(CO, )
168) What is the percentage of Carbon-dio-Oxide (CO, ) in the atmosphere ?

(@) 0.03% (b) 0.93% (c) 0.0018% (d) 0.0005%

IS H HIET—S—3iasS(CO, ) @ AT fhaei § ?

(31) 0.03%( 9 ) 0.93% (¥9) 0.0018% (g ) 0.0005%

169) What is the maximum %age of water vapour in the atmosphere?
(@) 4% (b) 3% (c) 6% (d) 5%
qgHS H STAaTS Bl AfShad HUA FIT Bl 2
(31)4%(9)3% (9) 6% (<) 5%

170) Which of the following is not the fundamental element of atmosphere?
(a) Gas (b) Water vapour  (c) Aerosole (d) Wind
1 % ¥ 3 argHed &1 Aife dcg T ' ?
(1) (9) Sfeamw (9) wR™E (g ) uee



171) Which is the lowest layer of the atmosphere?

(a) Mesosphere (b) Stratosphere (c) Troposphere (d) lonosphere

IRJHEd B Ae el IR S 7 ?

(31 ) qegded (9 ) 99U Heo (9) drFed (7)) mITHE
172) In which of the following layer, there is existence of Ozonosphere?

(a) Mesosphere (b) Troposphere (c) Thermosphere (d) Stratosphere
for 9 frg dea 7 9 Hsd &1 R 27

(a1) Feodsal (9) evdsa (9) duHsd (T ) FHaIHSd

173) In which of the following layer, there is existence of lonosphere?
(a) Thermosphere (b) Stratosphere (c) Troposphere (d) Mesosphere

fe Heel § MU Heel &7 3R 87
(31) aUHsa (9 ) S9duEsd (9 ) amAsd (T ) qegHsd
174) In which of the following, temperature decrease with increasing altitude?
(a) Stratosphere (b) Exosphere (c) Thermosphere (d) Troposphere
= & 9 f5g gsa & SIS 9g7 B A dI9ETT gedT g ?

(o1) FamHsd (9 ) drErsd (@) qwEsd () ense
175) In which of the following layer, each and every atmospheric happening appears?

(a) Ozonosphere  (b) Troposphere (c) Exosphere (d) Thermosphere
= ¥ 9 fow wa # 9 argHed geay afed Bkt 87

(31) slioHed (9 ) evAsel (9 ) qrEwsd (T ) duHsa

176) The average altitude of troposphere is ------------ kms..
(@) 70 kms. (b) 12kms (c) 50 kms (d) 30 kms
grHes P 3id g —————— fBoH0 % |

(a1) 70fwodlo (@) 12 fHoHo (& )50 fdHoHo (& ) 30 fkoHio

177) Troposphere and stratosphere layers are separated by ------------ .

(a) Mesopause (b) Stratopause (c) Tropopause (d) Thermopause

dgvHed Ud FJ9dgH Sl —————— ® EWNT 3Tl Bidl 2 |
(1) 7eg AT (9 ) FHATYHHT () &anraE () arodmEr
UNIT -1V Chapter-2 : Airmass and Front : (S&a1I—2 : IR TF a1ART )

178) Who nomenclature ‘Airmass’ for a part having homozenous temperature and humidity?
(a) Strahler (b) Chorley (c) Berknese (d) Trewartha



FHF A9 T ATl dTel IGHSAR 9T & oy “argRIRr &1 Aravo fhae faar?
(3) WrerR () =@ (&) g@i () feamed

179) Which of the following is not an ideal source region of airmass?
(a) Equatorial region (b) Monsoon region (c) Temperate region (d) Polar region
¥ H 9§ DI aRYRIR BT 31wl I I 8l 27?
(o) eRE™ & (9) 49gd &F (9 )FRiaer a5 () gad ad

180) Which of the following is not used in the classification of airmass?

(a) T (b) P ( m (d) z
/1§ ¥ B IR & iR § ugad el 8l 5 e
()T (3)P (9) m (T)Z
181) cT stands for ?
(a) Cold tropical (b) Cold Temperate
(c) Continental temperate (d) Continental Tropical
cT &1 31ef BT & ?
(31) B SWHfea=T (9 ) 33 gFeareT
(&) Hergdr T () wEEIvY SWhfcay
182) mT stands for --------------------- ?
(&) Meritime tropical (b) Monsoon tropical
(c) Meritime temperate (d) Mountain temperate
mT &1 37ef BraT 8 ?
(1) HERRIY SWhica=g (9 ) A9 SUhfeay
() AERT AT (T ) yrdx AReareT
183) cP stands for --------------------- ?
(a) Central Plateau (b) Central Polar
(c) Continental Polar (d) Continental plateau
cP &7 3ref BT ® ?

(31 ) Hegac uoR () wegadf gdra
(&) #erdndr gdra (7 ) weET TSR
184) mP stands for ------- ?

(a) Meritime Polar (b) Middle Polar (c) Mountain Polar (d) Mainland Polar
cP T 37 BIaT B ?




(31) "IN g (9 ) Heggell gd (9 ) uddy gag (T ) g 9 gdi

185) Continental Polar airmass is found in --------- ?
(a) India (b) Arab (c) Alaska (d) Brazil
HETGIUIg g argRIRT Hel Uil Sirell 87
(F)¥vRd  (9)3Rd (9 ) IRl () sroia

186) Continental tropical airmass is found in --------- .
(a) Mexico (b) Gobi (c) Norway  (d) Japan
TEEIi SR ARy wet TRl o 82
(o) afdgaer (9 ) W (|9) I () Su=
187) Which of the following airmass takes its origin at Siberia?
@) cT (b) mT (c) cP (d) mP
Bt 3 & I € arREIRT 9 Scay wgaRar ¥ w87
(31 )cT (9 )mT (d) cP (g )mP
188) Which of the following is not identical with the shape of a cyclone?
(a) Elliptical (b) Circular (c) Triangular (d) Waiz
= 5 | B Ml THard o mgfa | e ferdt 27
(31)3vsBR (9 ) gadR (¥ ) Promer (g)aw

[}

189) Atmospheric pressure becomes ------- in the centre of a cyclone.
(a) Low (b) High (c) Zero (d) Medium
UFh IHAd & g H argHSAd g ————— & € |
(o)1 (7)== (9) g@ (7)) 7=

190) Hurricane is a ------------------ cyclone.
(a) Temperate (b) Polar (c) Tropical (d) Arctic
RT TP JHATd ¥ |

(o) @wefidior (9 ) gdm (W) SW Bicadid (T ) Mdbied
UNIT -1V Chapter-3 : Koeppen’s classification of Climate : (31&I10—3 : P B NEEL
ERICaL):
191) Koeppen belongs to which of the following country?

(a) Germany (b) France (c) Britain (d) India

BIUF 1 9 9§ 59 <9 & & arel o

() oo ()o@ (@) facg (=) awa



192) Koeppen'’s classification of world climate was based on ------------- .
(a) Thornthwait’s classification of world climate (b) Climatic classification by Trewartha

(c) World vegetation classification by Candolle (d) World’s climatic classifiacation

DI BT fa%d FTeAdry afTdHRoT TR TR o |
(31 ) efffede &7 fdeq STearg affaxor (9 ) feareil &1 favg STefary aefiaRor
(F) Beerel & fawd gl iieRor (T ) fdeg STofarg afiexon
193) Koeppen classified the world’s climate into --------- major divisions?
(a) 4 (b) 5 (€) 6 (d 7

(1) 4 (3) 5 (%) 6 (T) 7
194) B climate of Koeppen indicates ---------- type of climate.
(a) Polar (b) Desert (c) Temperate (d) Monsoon
BIUT BT 41 STy YR bl STy &7
(1) gdm (9) 7veid (9) 9addwr (T ) A9

195) A climate of Koeppen indicates ---------- type of climate?

(a) Tropical (b) Mountainous (c) Polar (d) Temperate
DU BT T STy YR B STy 57
(31) Surdfeasm (9 ) gdd (9) gdm (T ) |\eLd

196) C climate of Koeppen indicates ---------- type of climate?

(a) Tropical (b) Mountainous (c) Polar (d) Temperate
DU BT A FeAdrg JHR B STedy & |
(o) Swidfea®im (9 ) yddg (9 ) gdm (7 ) gaefarer

197) Which division of Koppen'’s climate is cold temperate climate?

(@) A -climate (b) B-climate (c)C-climate (d) D -climate

PIUT & STfarg aHROT BT DI A1 [T M Aarer Sefarg 872
(1) v ey (9) q-efarg (4 ) M-y (=) Sy

198) Which climatic division of Koppen has 18°C as its average annual temperature?

(@ A-climate (b) B-climate (c) C-climate (d) E - climate
I & fhd STerarg fmT # sid arfiies argae 18° o EraT 272

(3) v—vag (9) d-Sfearg (9) @ ey (&) gy

199) Small alphabet f' in Koppen'’s classification of climate indicates --------- .

(a) Norainfall (b) Rainfall all the year round (c) Rainfall in summer (d) Rainfall in winter



BT & STAaTg adHReT H BT "TH" ————— HDHd HRAT B |
(3r) a9t 98 (9 ) AR aui (9) NP § a9t (g ) It # aui
200) Which climatic division of Koppen has no summer season?

(a) A - climate (b) B - climate (c) E-climate (d) C - climate

I & fhd Serarg fowmr # fis7 g =8 g § ?
(1) v-—erarg (9) d-Serary () =g (T) Aoy

201) Which of the climatic division of Koppen is warm temperate rainy climate?

(a) A - climate (b) B - climate (c) C-climate (d) D- climate

@l YEIqell BT YART Havgd fhas faar?

(31) v—stetary (9 ) S—SfeTary (9) @y (T ) S—ofeary
202) Which of the following is not the sub-division of Koppen's C-climate?

(&) Cm - climate (b) Cf - climate (c) Cs - climate (d) Cw - climate

71 3 9§ DI BIUT & A—STeldry BT IUTIRT T8l 7 ?

(o) & TSty (F) W TH—STearg (9 ) TE-Seary (T ) A Sog—oIearg
203) Which sub-division of Koppen'’s classification of world climate is monsoon climate?

(@) Af (b) Cf (c) Am (d) Cm

DU & fdeq STerarg aHTdRoT BT B AT IUMTHRT AGT STAd &7

(31) T v—Serarg (9 ) W gh—srerarg (9 ) U H-9elag (T ) A H-SIelay
UNIT =1V Chapter--4 : Thornthwait’s classification of Climate : (3/E9—4 : offvfede @1

SEEIRACHIEaL):
204) Thornthwait belongs to which of the following country?
(a) Britain (b) France (c) U.S.A. (d) India
oiede fhd <9 & & arel o7
(a1) faea (9) w9 () Ggad I 3FRBT (T ) 9Rd
205) Thornthwait’s cloassification of world climate was finalyy came into existence in ----- ?
(a) 1918 (b) 1901 (c) 1958 (d) 1948

oqTHede BT fagq STefarg qeiehRol SAf~H ®U ¥ Da fReIed H 377AT?
(a1)1918 (&) 1901 (9@ ) 1958 (&) 1948

206) Thornthwait’s cloassification of world climate was based on ------------- ?
(a) World’s vegetation classification (b) Experimental approach

(c) Empirical approach (d) Koppen’s classification of climate



(9 ) rgafde IUTH (g ) BIUT BT STAgary aHimRol

207) According to Thornthwait’s classification, which climate mostly exists in India?
(a) CBw (b) CAwW (c) DBw (d) DAw
oede & TBRY & IR RA H Af&had I A Sy © 2

(31 ) Hiodloseeg (@) ¥ovoseey (A ) Slodlosey (T ) Slovosey

208) According to Thornthwait, the part of the rainfall that influences the origin and growth of

vegetation is called --------- ?

(a) P/E Ratio (b) R/E Ratio (c) T/E Ratio (d) R/E Index

IMFIC & FJAR T Bl I8 AN Sl g4l & Il U a1 PI ywTfad el ©
——————— HEAC &7

(31) 00 3rgUTd ( § ) R0 30 31U ( F ) 1030 U (T ) AR0Z0 &
209) How many major humidity zones were done by Thornthwait in 19317

(@ 4 (b) 5 (c) 6 b 7

1931 50 H ofFedC & gRI fba gad 3Madl HUSe §-1¢ TY?

(a1)4 (3) 5 (W) 6 (2)7
210) What is the P/E index wet humidity zome (A) according to Thornthwait?
(a) >127 (b) 64 - 127 (c) 32-63 (d) 16-31
Iiede & IR TR ATl HUSE &bl gUoT YHTACT el FIT 57
()127 ASWK (F)64 —127 F AT (V)32 —-63D A (T )16 — 31 & &I
211) Three indexes were included in amendment of 1948 by Thornthwait. Which of the
following was not included?
(@) C/Eindex (b) P/Eindex (c) T/Eindex (d) Seasonal distribution of rainfall
1948 ¥ fHy U HeMed H oFede o O GiEl &1 wfia fdar| 7949 4 319 99 = 4
oA &1 o?
(1) A/Sogd (7)) W/20 A (| ) Eo/30 A (T ) auf BT ARGAT fIaRor

212) Thornthwait used ‘Potential Evapotranspiration’ to delimit the climatic zone In which of the

following climatic classification?
(@ In1931 (b) INn1933 (c) In1948 (d) Inall



oFede o Sofary AT & A FeiRor § "9 arefieRoT arsdicqsi=” BT YA fhd
AfieRor H fhar?
(3r)1931 % (9) 1933 H () 1948 # (g) 9

213) In 1948, how many humidity zones were decided by Thornthwait?

(a) 6 (b)y 7 (©) 8 (d) 9

1948 H iede @ gRT fohae Imdar Avee fAuiRa fawar ar?

(1) 6 (7) 7 (9) 8 (%) 9
214) In 1948, how many Thermal Provinces were decided by Thornthwait?

(@) 12 (b) 9 (c) 7 (d) 6

1948 ¥ iede & g1 fha- i wued fReiRa fovar war fear?

(a1) 12 (9) 9 (97) 7 () 6
215) Aaccording to Thornthwait, Thermal efficiency Ratio (T/E Ratio) = ?

(@) (T-32) /12 (b) (T-32)/3 (c) (T-32) /4 (d) (T-16) /4

oFede & SR AU Geral 3rgurd ( T/E Ratio) = ? ?

(1) (€10—-32) /2 (9) (€10-32) /3 (|) (€032 /4 (T) (Slo—16) /4
216) How many climatic divisions were identified in 1931 by Thornthwait?

(a) 32 () 28 () 20 (d 24

1931 S0 ¥ oFiedT & gRI fhawl Sierary fawml & fifed fdar war?

(31)32 (9) 28 (¥) 20 (g) 24

UNIT — IV - Chapter-5 : Evidences of Climatic Change : (@aTI—5 : Searg IRad= & YT

217) Which of the following is not the evidence of climatic change?

(a) Change in rainfall (b) Change in weather pattern

(c) Shifting of plates (d) Loss of Arctic sea ice

7 # & B STaary uRads &1 g7 T8 87

(a1) auf # uRad+ (9 ) 5 gRacdd=

(9 wiel &1 Rega- (T ) MBfcH AFR & d% T gl
218) Which of the following is not the evidence of climatic change?

(a) Sea level rise (b) Heavy downpour

(c) Melting of icesheet (d) Contraction of glaciers

1 # & B SR uRacs &1 G107 T8 87
(31 ) FHET WR BT SR I3 (9) rafsrs a9l



(¥) g% @ ARl &1 fager () 2l @1 Rigsr
219) Which is not a name of glaciations period?
(a) Labrodar (b) Riss (c) Gunj (d) Worm
DI RBHAMIGROT BT A4 21 T?
(&) cser  (9)Ra (&) g1 (%)
220) Which of the following follows the correct chronological order?
(a) Riss-Gunj-Mindel- Worm (b) Gunj -Worm-Mindel-Riss
(c) Gunj—Mindel-Riss-Worm (d) Worm-Gunj-Mindel-Riss
1 H 9 & e BIAPH BH BT SRR BRAT © °
(@) Re- qo-fose—gd (9 Go-gi- Poge—Re
(9 ) Io—fAvsa —Ra—gH (T ) go— To—THvse— R4
221) Which of the following is the latest glaciations period?

(a) Pliestocene (b) Pliocene (c) Cambrian (d) Carboniferous

e § 9 B orera R 87

(31) wiRe® (9 ) @A (9) S (T ) dEH™d
222) Which of the following is the oldest glaciations period?

(a) Pre-Cambrian (b) Pliestocene (c) Ordovician (d) Miocene
=1 9 9§ 39 999 R® fRAF 57

(31) gg—adfma (9) wike”E (9) JIRSIAR™EA (T ) A”NE

223) Which of the following is not the biological evidence of climatic change?

(a) Oxygen Isotop (b) Geomorphic features  (c) Fossils (d) Tree ring growth

71 § 9§ B9 Seary uRads &1 Sifds yAmr 8 87

(@) SifeRioT smgarcty (9 ) il (9 ) Shared @@ (T ) 9e7 9o 9fg
224) Which of the following is not the tectonic evidence of climatic change?

(a) Palaeomagnetism (b) Sea floor spreading (c) Wandering of poles (d) Flood record

1 § ¥ B STaary uRads &1 fJadie garor 781 57

(o) RIgwH@ (9 ) 9gsl Fdd YR (9 ) gai &1 3907 (g ) 918 31l
225) Which of the following is not the crygenic evidence of climatic change?

(a) Glaciation period (b) Plate tectonics (c) Ice sheet (d) Periglacial evidence

= # § B Seary uRad+ &1 i g T8 87
(1) BH@dd (9) wie adfar (9) R AR (7 ) uRfEAF |y




226) Which of the following is not the geomorphological evidence of climatic change?

(a) Pediment (b) Tors (c) Lacustrine deposit (d) Sand dunes
7 § ¥ B STeary aRads &1 endfaed gHT T8 8?
(1) UM< (9)3H (9) W [eu (T ) i o

227) The warm period between two glacial periods is called ------------ ?
(a) Palaeoglacial period (b) Interglacial period
(c) Post-glacial period (d) Post-glacial period
T 29 F1a & T FemEry PHEARI B°

(31) QRIZHBTSA (d ) A<iSHBIA (¥) SRiEwHd (T ) gdieHadre
228) Which of the following is not the glaciation of North America?

(a) Nebraskan (b) Mindel (c) Wisconsin (d) Kansasan

1 § 9 P IR MRS BT fRAMIGROT T8 27

(31) TR (9) fvgad (9) i () &=
229) How many years ago, Pleistocene glaciations occured?

(a) 1000 million (b) 10 million  (c) 01 million (d) 100 million

foha Iy Ugel WRCRI f2HdTd afed gar?

(31) 1000 fAferm () 10 fAfera= (| ) 01 fAferas (g ) 100 fAfer=
UNIT=IV Chapter-6 : Global Warming : (3am8—6 : 93fde 9w )

230)  The hottest year of the 20" century is --------------- ?
(a) 1930 (b) 1950  (c) 1978 (d) 1998
2047 HST BT HATRHd TH I RET?
(31) 1930 (9)1950 (¥ ) 1978 (<) 1998

231) Which of the following is not the source of global warming?
(@) Sun spot (b) Sealevelrise  (c) Ozone hole (d) CFCgas

= § @ B9 IRgw SwuT BT AT T 7P
(o) G deid (9 ) Fgal Sfdd df T S (9 ) siaiq fog g ) Ho gwo o 79

232) Which of the following is not the cause of global warming?

(a) Invention (b) Deforestation (c) Transportation (d) Power plant
71 # 9 o IRaH IHT F HRUT Tl 27
(31 ) amfdspR (9 ) @ fa=rer (49) uRasd (=) wifda o=

233) Which of the following pose maximum damage to Ozone?

(a) Nitrogen (b) Argon (c) Clorofloro mithane (d) Oxygen



= 5 | B e @ iffwad ' ugarar 87
(o) MSgoE  (F )M (¥) FARYART A (T) sifedreT
234) In which of the following atmospheric sphere, there becomes maximum concentration
of ozone?

(a) Exosphere (b) Mesosphere (c) Thermosphere (d) Stratosphere
/1 9 9 {9 argHedd Ausd H A T SIfdHdd AE0T BT &7

(31) drEHed( 9 ) HegHS (¥9) duHeA (T ) FHdUHS A

235) Which of the following is not the cause of global warming?
(a) Green house gas (b) Pollution (c) Rapid industrialization (d) Engineering
=1 % & 319 IRaH IHI BT HRUT T 87
(a1)eRAE M () yguur (| ) g SRR (T ) g
236) Which of the following is not the impact of global warming?

(a) Retreating snow line (b) Ice melting (c) Waterfall origin  (d) Loss of wild life

1 5§ ¥ B9 aRad I BT gRom TE 87
(31 ) fEwRan &1 Yiw ge (9) 9% & fOae
(| )STa9aTd Bl i () STell S &1 fa=rer
237) Which of the following is not the impact of global warming?
(a) Land degradation (b) Malnutrition

(c) Loss of biodiversity (d) Change of weather pattern

71 H | B df¥ad IWT B gRVM T 87

(31 ) s (9) g

(=) Srafafderar &1 fa=rer (T ) A gfoey § aRaaH
238) Global surface temperature has been measured since ---------- year.

(a) 1880  (b) 1780  (c) 1950 (d) 1980

IRg® AL ATIHE BT AGT ———— I 3 forar S <@ 7

(31) 1880 (&) 1780 (¥ ) 1950 (<) 1980

239) Atmospheric temperature is being measured by Satellites since --------- ?
(a) 1850 (b) 1889 (c) 1979 (d) 2001
qIYHSHAII ATIH DT SUTET BT gAY ———— 9y ¥ fhar ST R 7 |

(1) 1850 (9) 1979 (|) 1979 (T ) 2001

240) An ozoneless patch in atmosphere is called ------------- .



(a) Ozone halo (b) Ozone hole (c) Ozoneless (d) Ozone crevice

3MSiA fd el &l HET ST B |
(31) S yETsd (9 ) e fog (9) oRfgd (T ) NiF RKR

241) Maximum concentration of ozone is found at ------------------ .

(a) Equatorial zone (b) Polar area (c) Between 50°to Pole  (d) Temperate zone

(o) qAeRE™ Sfcae () gd &3 (9 )50°9 ¢gal & #ed( T ) Faiare sieaw
242) Minimum concentration of ozone is found at ------------------ .

(a) Temperate zone (b) Equatorial zone (c) Montain area (d) Polar zone

A BT YATH AR —————— QR GRIT ST % |
(5 ) weherer wfeasr (7 ) e BT (@ ) wHE dA () gi T
UNIT -V Chapter-1: Salinity of Oceanic water : (SfI—I—1 : HEARRIYI STl Pl AqUIT )

243) Which salt is found in maximum guantity in oceanic water?
(a) Magnesium bromide  (b) Calcium sulphate

(c) Sodium chloride (d) Magnesium chloride
TGl ST H e T9® @ Sffehad ATAT UTlg Sl 57

(a1) FRRM gMEs (9 ) DARTH b
(9 ) 9feam eirRigs (© ) AREY FARTES

244) The quantity of Sodium chloride in river water is --------------- per thousand.
(@) 40 (b) 36 (c) 16 @ 2
afeat & o H AIfSTH FARgS B AE ————— gf 89K Bl T |
(a1)40 (9)36 (|) 16 (g)2

245) Higher the evaporation --------------- the salinity?
(a) Lower (b) Higher (c) Medium (d) Negligible
SR ITIhRU], ———————— KERNGIL
(1) R (9) S=aar (|) #9eg9 (T ) 9"

246) Which is the saltiest ocean?
(a) Atlantic (b) Indian  (c) Pacific (d) Arctic
NEIEEE IUIdTgdd HETHNIY DI g7
(a1) dedifcds (9) R (9)ywm (T ) sMaicw

247) Which Ocean has the lowest salinity?



@) Arctic (b) Pacific (c) Atlantic (d) Indian
~JATH IqordT drell HENTIY Bl g7
(o) sm@fes () wem (9) seerfes (2)fe=

248) An imaginary line connecting the places of equal salinity is called ----------- :

(a) Isosalt (b) Isotherm (c) Isohaline (d) Isobar
YT SAGOTdT dTel Y71 BT ™ dTell Breufad g ———— HEA B |

() wAE oaur () gHag x@r (9) AU T (T ) FHER T

249) Which of the following is not the oceanic part having more than average salinity?
(a) Persian gulf (b) Mediterranean sea (c) Redsea (d) Japan sea

o & 9 o9 9= 9 3N W S1fSe FauTar drel AR 9T T8l 87
(1) PR B Wl (F) YA AR (9 ) o 9PR (€ ) SIUH 4R

250) Which of the following is not the controlling factor of oceanic salinity ?

(a) Heavy downpour (b) Atmospheric pressure (c) Evaporation (d) Plancton
=1 § & 39 9N d9uiar &1 s T8 80
(31) arafds aui (9 ) dgHSAd <dE (|) arreRor (T ) wiged

251) The highest salinity is found in -------------- ?
(@) Van lake (b) Chad lake (c) Dead sea (d) Red Sea
HaTferd SqurT ¥ q1$ SRl 8?
(ar)dFsiad (9) = sl (¥ ) gd AR () ol AR
252) The magnitude of salinity at the mouth of big rivers --------------- :
(a) Increases (b) Decreases (c) Fluctuates (d) No change
L el & Hg™ W FAqUIar &l A ——— B © |

(a1)defi g ()TN (9) Uc—d 8l ? () ®1$ uRad+ =&

253) Which of the following salinity percentage is not correct?

(a) Dead sea (238%) (b) Van lake (330%)

(c) Great Salt lake (103%) (d) Titikaka lake (203%)

/1 § ¥ B9 98 T8I 57

(31) Jd AR (238%) (9 ) d sfiiet (330%)

(9 ) Uc Al odd (103%) (T ) e sl (203%)
254) Salinity ------------------ due to melting of oceanic snow.

(a) No change (b) Increases (c) Decreases (d) Fluctuates



IR 29 & fges I davrar =
(1) P uRIAT 781 () de & () e & (T ) gc—<g¢ Bl &

UNIT -V Chapter-2 : Relief of the Indian Ocean Floor : @EII—2 : fa=g FeRTFRY

fad S=amaT )
255) Which of the following is situated in the west of used Indian Ocean?
(@) India (b) Antarctica (c) Africa (d) Austrelia

= ¥ 9 o9 < 98MTR & uf¥em § Rera 87
(1) 9Rd  (9)3remfedr (9) ffbadr (T ) sReferm

256) Coast of Indian ocean is made up of ----------- rocks?
(a) Gondawanaland (b) Angaraland (c¢) Russian platform (d) Chinese massif
fEs AR &7 d¢ FeMi ¥ g 2?
(31) TifeaF s (9 ) RTRIIvS (9) w9 wichH (T ) = geuTs
257) The average depth of Indian Ocean is ---------------- metres?
(@) 2000  (b) 3000  (c) 4000 (d) 5000
feg FEITR @1 i ad TEvTS AR 7 |

(31) 2000 (&)3000 (¥) 4000 (<) 5000
258) Which of the following ocean basin is not found in Indian Ocean?

(a) Cape verde basin (b) Oman basin (c) Netal basin (d) Somali basin

= ¥ 9 o9 IR T 78RR # Rerd T8l 87
(31) duas IR (q) = IRM () 7 IR (€ ) ATl 9RE

259) Which ridge divides Indian ocean in twa halves — eastern and western?

(a) Chagos-St. Paul ridge (b) Mid-Indian oceanic ridge

(c) Madagaskar ridge (d) Indian-Antarctica ridge

P PHeh fes FENINR BT & 9NN — Ydi Ud Uikl # fariora ewar 27?
(31 ) FME—UA Heh (9 ) w7 feg 98NNl dch

(9 ) ASHIAR Hch (T ) IRA—3TTIHICHT HTh

260) Near which place, continental shelf in Indian Ocean is so narrow?
(a) Java-Sumatra (b) Madagaskar (c) Sudan (d) Antarctica
o M & Mo R Fde afid Harvf 87

(&1 )Srar—ga=T (9§ ) ASHIRGR (F) ge[ (7 ) r<rahieadr



261) Which of the following deep is located in Indian ocean?
(a) Peortorico (b) Meriana (c) Sunda (d) Tonga
1 ¥ B W T R wenR | Rerd 2
(o) WreiRer () ARIFT  (|) gosT () eRm
262) Continental shelf in Indian Ocean is extended on what percentage of its total area?
(@) 2.4 (b) 4.2 (c) 12.6 (d) 18.4
fge ABINR & gl &A%l & ol Uiaed W WR 77 T b1 IR 57

(31) 24 (9) 42 (=) 12.6 (g) 184

263) Continental slope in Indian Ocean is extended on what percentage of its total area?
€) 6.5 (b) 8.6 (c) 21.6 (d) 325
2T WENTR & §dl 8B & (dba- Ui 9N R 9 o &b [GWR 27

(31) 65 (9) 86 (d) 216 (g) 325
264) Deep sea plain in Indian Ocean is extended on what percentage of its total area?
(a) 66.6 (b) 51.1 (c) 60.6 (d  80.1
fE=e ABTIRR # X ARG #8M &1 f[IWR 59 ol &%hd & fdbd Ui ¥ 0R 57
(31) 66.6 (9) 51.1 (4) 60.6 (g) 801
265) How many deeps have been found in Indian Ocean?
(@) 3 (b) 6 (¢ 13 (d) 33
feg HeMR # fdhd= 7al &I gar o mar 47 &7
(1) 3 (9) 6 (&) 13 (T) 33

266) Andman basin is extended in which direction of Andman ridge?
(a) North (b) South (©) East (d) West
©IC IeRTEael BT YIRT AdyeH e faar?
(o) Sw® (%) <o (9) T4 (g) uRem
UNIT -V Chapter-3: Relief of the Atlantic Ocean Floor : (3fUTI—3 : 3[cdifcd HERINRIT

fraar S=araa )

267) The total geographical area of Atlantic Ocean is -------------- lakh sq mile.
(a) 520 (b) 610 (c) 820 (d) 910
Jecfifcd HERITR BT fel YRNferd &bl ————— SICICHEI SIS
(ar) 520 (9) 610 (9) 820 () 910

268) Atlantic Ocean covers ------------- part of the globe area?



@1/6 (b)1/3 (o) 1/4 (d) 1/8
fasa & & gIABA BT ———— URT cclifcd ASTINR 3ITeBIed HRdl &7
(3r) 1/6 () 1/3 (d) 1/4 (g)1/8

269) Ridge divides Atlantic Ocean into two — eastern and westerns halves.
(a) North Mid-Atlantic (b) Walvis (c) Mid-Atlantic (d) Wyuville
———— PP, UTHilcd HBNR Bl Ydi Ud Uf¥eril &1 aR1ER 9RN 3 dfed © |
(31) SO 7T Vedifed (9 ) arafad (9 ) 799 vedifed (§ ) arafda

270) Ridge touches the western African coast near Angola?

(a) Dolphin (b) Indian  (c) Sieraleon (d) Walvis

——— Peh M B dpe IR AfB@r de BT W © |

(31) A (9) R () Rxifemm (©) drafaw
271) Challenger Ridge in Atlantic Ocean is situated in ?

(a) Northern Atlantic (b) Southern Atlantic
(c) Norht-east Atlantic (d) South-west Atlantic

Uedifed HERITR H dol~ok heh H Rerd T

(31) I vediics (&) <ferof yedfes

(¥ ) SA—Ygdi gedifcd (T ) <fEoi—ul¥=sl gedfcs
272) Which of the following Ridge touches the Norway sea coast?

(&) Wyville (b) New Found Land (c) Dolphin  (d) Walvis

%=1 § 9§ DI Bed AT & FHEI I DI WY BT o7

(o) aEfdel (9 ) YHIEvS ofs (9) St (g ) arafad
273) How many deeps have been found in Atlantic Ocean?

(@) 7 (b) 13 (c) 19 (d) 43

Uedifcd AENRIR # fhaw Tal & grr a1 87

(a1) 7 (¢) 13 (=) 19 (T)43

274) Wide ridge south of Greenland is known as ----------------- ?
(a) Riograndee rise (b) Dolphin ridge (c) Pararise (d) Telegraph plateau
frele & <féor Rea die ded o ————— & A A ST ST

(3r) RIS SR (9 ) Sl Bed (9 ) IRT S9R - (€ ) <forms usR
275) An ocean basin between Greenland and New Foundland is called ----------- :

(a) Labrador basin (b) Spanish basin  (c) Brazil basin (d) Capeverde basin



fTels Ud YwISvse’s & Aed Rerd AR qof & ————— IR PN ST 2 |

(31) oemeR R () Wi aRm (F) gofiad aRE (§ ) duds IR
276) Which of the following deeps is not located in Atlantic Ocean?

(a) Naresh deep (b) Alutian deep (c) Romansh deep (d) Moseley deep

1 § & B9 T gedifcd WENR # T8 87

(o) WA (9) GRREA a0 (9 ) I A (T ) Ardger Td

277) Which of the following sea is not situated on the Atlantic continental shelf?

(a) Denmark strait (b) Baltic sea (c) Davis strait (d) Java sea
T % 9 P9 AR Ucdifed Fide W Rerd gt 27

(31) STHT® STTSHOHS (9) drfecsd AR

(1) Sfaa STaesaeas (T ) WA AR
278) Which of the following island is not situated on Atlantic continental shelf?
(a) Folkland (b) Trinidad (c) Newzealand (d) Camaree
=1 & ¥ P19 €U Tedifcd Ti-aec W Rea gt 87
(1) wipets  (9) feisre (@) yoicis () o

UNIT-V Chapter-4 : Marine Deposit : (STEaTI—4 : ASRIFY 89 )

279) Which of the following is not the terrigenous material in Ocean deposit?
(a) Gravel (b) Silt (c) Ooze (d) Sand
B § 9§ B Terar Feg i gared 78 82
() s (7)fee (W) &9 (T)

280) Which of the following is not the pelagic deposit?

(a) Blue mud (b) Globigerina Ooze (c) Diotom Ooze (d) Pteropod Ooze

1§ ¥ B Ut e T8l 2?

(a1) Al g6 (9) TfeUIRTT o1 (W) S Sl (T ) RUS 3
281) According to Murray, pelagic deposit occurs below --------- fathoms.

(@) 50 (b) 100 (c) 200 (d) 2000

R & AR Uerford Heg ————— WEH & <D BT & |

(31) 50 (9) 100 () 200 (<) 2000

282) Which of the following is not a type of mud in terrigenous deposit?
(a) Grey mud (b) Green mud (c) Blue mud (d) Red mud
Bt 3 & P 4T B8 § e B IR T8 82



(31) W 4 (9) 80 U (|) el us (g ) <t U
283) Which of the following is not a type of Oceanic deposit?

(a) Boulder deposit (b) Pelagic deposit

(c) Terrigenous deposit (d) Volcanic material deposit
1 ¥ B9 HERR e & UhR T8 87

(31) alesx fAgm (9) Yarfoie e

() ¥ffst ey (T ) Saremgdr yared e

284) Which of the following is terrigenous deposit?
(a) Radiolarian Ooze (b) Siliceous Ooze (c) Calcarious Ooze (d) Volcanic mud

= 9 o e e & erTa oimar 87
(31 ) MSA@RTT ot (9 ) Raferar yae o1 (F ) AT 99 S (€ ) SaTe|g@! b

285) Calcarious ooze is found at the depth of ------------------ fathom in the ocean?
(@ 400-500  (b) 1000 - 2000 (c) 1200 - 1500 (d) 4000 - 5000
= G ol FAERITR § ——————— BheH P TS § U o 27
(3) 400-500 (&) 1000 - 500 (¥) 200-500 (&) 4000 - 5000

286) Daitom ooze is found at ----------------- ?

(a) Around Antarctica (b) Arabian sea
(c) Around West Indies (d) Brazillian coast
SHEH $of ——————— W U7 ST g |

(31) Irerdicdl & aART IR (9 ) 3R AR
(9 ) U=l g9 998 & 9RT AR (g ) sroirat de

287) In pelagic deposit which of the following is found in most extensive area?

(a) Pteropod Ooze (b) Globigerina Ooze (c) Red clay (d) Diatom Ooze

Uertores (e § 77 § | 319 |aite Owga e | Ui S 8 ?
(o) RUe F91 (T ) AR ST (F ) o giddr (& JSISH ol

288) Out of the total Oceanic deposit, red clay is extended on -------- % area.
(a) 30.1 (b) 50.6 (0 101 (d) 306
AR AR e & ————— gfcrerd 9RT WR el Jfaer arRft St 2°?
(31) 301 (9) 50.6 (¥9) 101 (&) 306

289) Arrange the sand deposit in order of size from coast to deep sea.
(a) Coarse sand — medium sand -- fine sand -- very fine sand

(b) Very fine sand -- fine sand — medium sand -- Coarse sand



(c) Medium sand -- Coarse sand —very fine sand -- fine sand

(d) Fine sand -- coarse sand — medium sand -- very fine sand

| T Y T8N AR B AR X e DI I FHR BH H ol |

(31) #AIEI X — HUH XA — NP Xd — SRS dRIB N

(9) AP IRIPB T — dRIb Nd — 7IH X — AT Xd

(| ) &9 YT — AT XA — ARS qRIb X — dRIb d

(T ) 9% YT — A Xd — 7eIH XA — A H IRIBb I

290) Cobble, Pebble and Granule belong to which category of oceanic deposit?
(a) Sand (b) Silt (c) Gravel (d) Clay
MeATRHT, TfEHT Td HioThT ASAIRIY ey & fba sofl # o 87
()@ (9)Ree (9) o (7 ) g

UNIT-V Chapter-5: Coral Reef : (3®a19—5 : yarer ffer )

291) At which of the following temperature, coral polyps develop?
(a) 40 - 41°C (b) 30-31°C (c) 20-21°C (d) 10-11°C
=1 ¥ 9 o e R yare Sia fasRig gar 87

(31)40-41°C (9)30-31°C (@) 20-21°C (g) 10-11°C

292) At which of the following depth, coral polyps develop?
(a) 100 — 150 Ft. (b) 200 — 250 Ft. (c) 300-350 Ft. (d) 500-550 Ft.
= & 9 59 TeE W yard Sh9 faefid g 27

(1) 100-150%ie. (d) 200-250%Ic (¥ ) 500-550 e (€ ) 500 —550 WIC.

293) Which of the following is not a type of coral reef?

@ Atoll (b) Fringing (c) Barrier (d) Coral polyp

=1 § ¥ B yara A T8 2?

(31) daIdR (9 ) ded (F) omaRE®H (T ) yaral Sl
294) Which of the following theory was propounded by Charles Darwin?

(a) Glacial control (b) Coral (c) Subsidence (d) Stand still

©IC YETTell BT YANT FauH e fdhar?
(ar) fear fgzor (9) yard (9) erade (T ) RerR wera
295) Coral bleaching starts due to ------------------- ?

(@) Increase in oceanic termperature (b) Decrease in oceanic temperature

(c) Atthe mouth of rivers (d) Cold ocean current



(&) A & Fer W (T ) Sl HENRRIY gRT

296) Where is the Great Barrier reef located?
(a) Britain (b)  Austrelia (c) Madagaskar (d) Japan
e IRIR I Faf Rerd 2°?
(a1) foca (@) amgform (W) #ASMR&ER (T ) U=

297) According to Darwin which is formed between sea coast and barrier reef?
(a) Ox-bow lake (b) Tank (c) Pond (d) Lagoon
ST & IR 94l d¢ Ud IRW A% & Ae9 ——— I 707 grar 272
()BT sl ()3 (&) T (F) A

298) According to Darwin, continuous shallow lagoon is the proof of --------------- ?
(a) Subsidence (b) Stand still (c) Glacial control (d) Wave cut platform

ST & IR oA &1 FRAR fower g1 fhaawr g 27?
(a1)3m@des  (9) ReR za () AW fAg=or (T ) =T uffa =garT

299) Daly said —“Sea level lowered by ------- fathoms during Pleistocene glaciations™?
(@) 103 - 108 (b) 63 -68 (c) 33-38 (d) 13-18
Sell 7 P8l — "R fREgT § IR 9 § ————— Hhad Bl BAl g7
(3r) 103-108 (9 )63-68 (¥9)33-38 (<) 13-18

300) Which of the following is not related with coral reef formation theory?
(a) Daly (b)  Penck (c) Darwin (d)  Murray
o= | B yare fafay i Rera @ wwafaa =8 8 2
(ar) el (a) Us () sifeq (g) ™

THE END OF GEOGRAPHY PAPER - |
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